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QUESTION NO: 1

Which of the following are the formats of Ethernet frame in the switching network? (Select multiple)

A. Tagged frame

B. FDDI frame

C. Token frame

D. Untagged frame

ANSWER: A D 

QUESTION NO: 2

The Advanced Research Projects Agency Network (ARPANET) network is created by United States Department of Defense 
and is the predecessor of the contemporary global. Which of the following is the basis of an ARPANET network?

A. MPLS forwarding

B. Packet switching

C. Circuit switching

D. Low-speed serial connection

ANSWER: B 

QUESTION NO: 3

In IS-IS, which of the following commands is used to change the interface level?

A. [Quidway-GigabitEthernet1/0/0] isis circuit-level level-1

B. [Quidway-GigabitEthernet1/0/0] isis is-level level-1

C. [Quidway-isis-1] isis level level-1

D. [Quidway-isis-1] is-level level-1

ANSWER: D 
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QUESTION NO: 4

Which of the following commands can be used to display the routing table on a Quidway router?

A. Display ip routing-table

B. Display current-configuration

C. Display ip path

D. Display interface

ANSWER: A 

QUESTION NO: 5

Which of the following statements are correct? (Select multiple)

A. Some of the dynamic routing protocols calculate the best path base on the cost value. However, Different routing protocol 
calculates the metric in different ways.

B. The calculation of cost may be based on "single" link attribute or several link attributes such as delay, hop count, 
bandwidth and etc.

C. When several dynamic routing protocols have the best routes to the same destination, all these routes will be added to 
the routing table.

D. The calculation method of the preference and cost in the routing table are the same.

ANSWER: A B 

QUESTION NO: 6

Which of the following storage devices are supported by Huawei Quidway router?

A. CF Card

B. Hard Disk

C. SDRAM

D. NVRAM

E. Flash

ANSWER: A C D E 
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QUESTION NO: 7

IPv6 cancels the option field in the IPv4 packet header and adds multiple extended packet headers, which improves the 
processing efficiency and enhances the flexibility of IPv6 and provides a good scalability for the IP protocol.

A. True

B. False

ANSWER: A 

QUESTION NO: 8

Which of the following protocols can be used for file transfer? (Select multiple)

A. Icmp

B. Telnet

C. TFTP

D. FTP

ANSWER: C D 

QUESTION NO: 9

How can the default route be generated? (Select multiple)

A. Manually configured

B. Generated by link layer protocol

C. Generated by dynamic routing protocols

D. Automatically generated by the router

ANSWER: A C 

QUESTION NO: 10

How many bits does a MAC address have?

A. 24
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B. 6

C. 12

D. 48

ANSWER: D 
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